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firBtname, middlename, Iastname, email l.
List and describe the required and optional
attibutes. 4

(b) Give ary th.ree advautages of the DBMS over file
sJrstems. 6

8. (a) De,scribe 3NF. When is a table said to be in 3NF?
Illustrate with the help of an example. 4

(b) Differentiate between centralized and distributed
databases. 4

(c) C-onsider the following retational tabte: 2

STUDENlT

STD ID STD NAIi{E contact Addreaa city
1 Aril 9933445566 A4 Delhi

2 Deepika 9988776655 Btz Mumbai

3 Sapna 8899776655 ctz Lucknow

4 Gaytri 9911223344 rLzlt4 Delhi

5 Umesh 9977665544 I133/89 Pune

6 Shyam 9922334455 B3 Jaipur

7 Anita 9933445566 C9 Mumbai

Give the output on execution of each of the
following SQL commands on the table cugtoner:

sErrEcr coIrNT ( DIsTrNc'lr city ) FRoll

SIIUDENT i
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Question No. l is compulsory.
Attempt any five questions ftom Q. Nos- 2 to 8.
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t/
1.(a)

(b)

(")

(d)

Describe different types of relationships in the
context of a relational data model with thc help of
a suitable example. 3

Differentiate DELETE and DROP SQL
commands with the help of an example. 3

A database consists of following relations:

EMPLOYEE ( EMP-CODA, EMP-NAUE , a,OB-CODE )

JOB (JOB_CODE, JOB_DES 

'Identiff and clescribe primary key and foreign
key(s) in the above relations. 4

Write the SQL command that will not abort the
changes being made to a relational table
Employ€€. 2

Illustrate insertion anomaly with a suitable
example. 3
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(e)

(h)

(i)

'2
What do you undefstand by refereatial integrity
rule? Illustrate with the help of suitable exanple.,

Give an SQL command to add a new attribute
Enatl with data type varchar (20) in the
relational table ernptoyee. z
A database consists of the relation custon6r:
Cuatotrer (Cust_Cod€, Cust_NaDe,
Region_Code, DOB, Age)

where cuat_coae is the primary key and age is
the derived attribute. Describe the derived
attribute and also draw an ER diagram for the
8a&e. 4
Refer the following table to give the output of the
given SQL command on the table cusrouER:
gExJSc! *
lRou cusEot{BR
WEERS Cu.t_Age>25 and Curt_Ag6<30 r

(a) rnooucr of couRsE and MARr(s

(b) orrrnnawcE oF couRsE AND IARKs

(c) uNron of couRsE and !.rARKs

(d) JorN or couRsE AND uARKs on
courEe code

(c) snr.rcr c_code= ,c90,
(Note : use the relation MARKS)

Relation course

c code C Name

c2,t English
c32 Maths
c33 Economics

cs0 Accounting
c56 History
c81 M,,I.S

Relation uarke
c Code C Nqrne

c2l English
c2.5 E.V.S.

c33 Economics

c34 Pol. Sc.

c50 Accounting
c81 M.I.S
c86 Hindi
c98 Gerrnan
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2. (a) Describe the different components of a databaie
system. 6

CUSTO!{ER

cust id Cuat Na.ne Cuat Age

1 Ram 32

5 Hari 27

z Kamna 25

7 74

3 Rajesh 23

6 Komal 22

4 Chatana 25
I

r, (a) Consider the relation EMpLoyEE
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4.(a)

( unique ) , tean id

Construct an ER diagram for the ICL database. 10

4

Each match has match_id
date and gcore.

What is Network data model? Give
disadvantages of the network model.

(b) Describe DBMS functions:
(D Data integrity maoagement

(ii) Backup and recovery matragement.

any two
4

6

5. Consider the database SALES 'with the tables
salesperson. Write SQL queries for the following:

saleperBon (sal€p€rson-id, saleparson_
ua.Ee, Region_id, city, selea, s6x, )

R€glon (Region_id, R€giop_nan€) 10

(a) Find the name of the saresperaon_naDa who
worts for north region.

(b) Find all sale aperson_nane in the database

. accorditrg to thefu city.
(c) Find the saleaperson_nane and negio'r,-; d that

gets the maximum salea .

(d) Find the negj.ons_name and cities where average

sales per saresperson are greater than 550.

(e) Find the total number of saleEpersons in north
region, io which the salesperaon operates. 1(l

6. Using the relations course and uarks, given below,

find the result of the following operations:

)
U
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(b) Give the output of the given SQL command on
the tabel sTUDENa:

(i) sELEcr lrAx (AGE), urN (FEEs)
FROU STUDENTT

(ii) ser.rce x.ur,rr

FRO}{ STUDENT

WAERE NAII{E I,IKE ' R* i
STUDENT

ID NAHE AGE ADDRESS FEES

1 Ramesh 32 Ahmedabad 2000'00
a Rakesh ?7 Bhopal 8500'00

3 Kamal Delhi 1500'00

4 Chatan 25 Mumbai 6500.00

5 Mukesh 24 Indore 10000'00

6 Raju 23 Kota 2000.00

7 Komal 22 Pu:re 4500.00

). Suppose you are given the following requirements for
a database for the India Cricket League (ICL):

(a) The ICL has many TEAMS.

(b) Each team has a team_id (unique), team_name,
city, coach_name and 6aptain_name.

(c) Each pLAyER belongs to only one team

(d) Each player has a player_id (unique),
player_name. position (such as bastman,
bowler, and all-rounder) and tean_j.d .

(e) A Match is played between teans.

PTO.


